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1. Write the equation of the inverse relation: Vi— 2(%—) +8

(-7,24)
2. Write the equation of this parabola in Vertex Form:

('31'8)

3. State the end behavior of each.
a) y=12x" - 8x* —x3 + 7x - 81 b) Ax) = x3(8 —x)(x + 5)2(x - 3)?

4. Find this quotient: y = 6xf=37x x 6_53§2 —30x+8

5. Given 7 and -2 are real zeros, find the remaining Complex Roots, real and nonreal. Simplify nonreal
roots, round real roots to the nearest hundredth.
4x* — 32x3 +21x2 + 83x — 238

6. Solve. Tx__ 4 14 = 8
(x+2)  x2+5x+6 (x+3)
7. Simplify each.
: S
a) 4’ =12x> —40x A x’+8x+15 b) x—6
3x* — 75x2 2x? +6x+4 7 9

x2—10x+24 x-4
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5. Given 7 and -2 are real zeros, find the remaining Complex Roots, real and nonreal. Simplify nonreal
roots, round real roots to the nearest hundredth.

4x* —32x% + 21x? + 83x — 238

AL = R SN SRR 2
28 2% -Y9  23%
sk~ W A - e 2 R

0% 24 5
= = e
e i e e e e
]Li‘(_':ﬁ—z
¥
6. Solve Toc i 3 14 T v ‘——_-(;,_T:'i:”
: : (x+2)  x*+5x+6 (x+3) -
e wE gl
el T, ' g
dary, ix g iy _ & ()
N T I S =)

D 1Y — Ex(xt2)
A4 2Ix HIY = ExHeX x - -2,

o= Xt-5%~14 :
o = (X-D(x+2) f 7;7:—{

7 SirLl'*l;)(lify each. ) et
X(XZ-3x -0
a) 4x3__12x2_40x . x2+8x+15 b) xf6 " (X‘L‘)/X.{(’)
3x4 — 75x2 2x2 + 6x+4 7 __9 _
RH(x=28)  2(W+3xr2) e ot RN /Y-Y>(X—(ﬂ\
(X -)(%-4)
_ (o) a9y (x4
Bl (5 (2N d() e S e
1 — (%)
2 (¥ = (X'L
2x(x+D s b
|
AERE I
-9x + &)




